Type of respondant

In favour?

Comments

My children are at the school and went to the nursery. | have a 1 year

Parent No old that | want to go there. There havent been enough children to go
there as they wasnt offering 30 hours. If they offered this they would
be able to fill the nursery with 30+ children.
| have a grandson in year 1. And his brother is 2 at the moment 3 in

Grandparent No . ,
December. Wanted him to go to the nursery next door as don’t want
to be going to 2 different places @

Parent Yes

The nursery did not wotl properly. Teachers did not care abt kids
Better for kids to deal with professionals than with Grendon nursery .
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